Parts List «..x

Bf) 7 NI L1

Model: LBC233UT IN—YYRPI—F 524153

BIGIUI

2015.10.






MmEROIEAIZONT

1.

o0 AN

B

gl BN =

D TEXDEIE

wiEE () - BRES - BREH - HEZHETILY,

INFEER (TR R DEEFRESSETI,

BB (Ewsd THILMIERMA] ZZEATIL,
AKEAKRITEBLIZBDEHYET,
AHMBERIBBEDAFELGCERTHIIELHYFET,

Fig. DFRRIZDULNT

ATAMR—=UIT Fig. XXSRERTLTHYET . COXXKIEIATRIMN—D
ELtORHBLESZRLET,

DA —
N . N 2
IOy (DF095—R =) = aAIL) [EE231 T 4

s VSV b= I 175 & St D I | =1 =K} 1 oo 8

- IVCY (RN TLA - IT7H)—F - Ta—TILAY) [EE231] . 10

R = OO 12



1+ LBC233UT
xR




RHES HBRES B & & & % fis
1-1 364492 | LBC233UT 1
1-2 227825 | FUNYYH  Tx1523L SP-18 1
1-3 227925 | KIYUNAHURMA 1
1-4 215532 | wva4=%") 1
1-5 054691 | YUhtHy 9347 1 | 62794
1-6 089738 | 6 Ay b (+ 77 V) 1 | M5X15
1-7 215418 | nUNWMYEATY 9347 1 | 87244
1-8 092561 | 6 AYF Wb (+)SW 6 | M5X25 77 Yk
1-9 228077 | ¥ ¥Yh-A934T 1 [ 10~ 16 794
1-10 234247 | 6 hHK b 1 | M8X8
1-11 092550 | 6 YK Wb (+)SW 1 | M5X25-7T 77 €9h
1-12 212986 | NE/WAA 1
1-13 219195 | NE/K'AB 1
1-14 215610 | 6 h%iK b WSW 1 | M8X22 4"
1-15 222128 | ¥¥VFE YNV 1
1-16 222129 | AYE Ry 1 | 3t 5X20
1-17 089737 | 6 A9 Wb (+ T2 EYh) 1 | M5X12
1-18 220549 | F194v-) 1 | PL(3%=2% E/G) hn
1-19 237444 | %=L7°L—} 1 | Y¥7 LBC233UT
1-20 234045 | NJT—Y 1 [ ECOIA L /793
1-21 229788 | NJY—4 1| FA944Y39 (7H)
1-22 235776 | nUNIL A TRF 1
1-23 235777 | nUMIL B ThA 1
1-24 235778 | MJBTLIN =934T (16) 1
1-25 560182 | 3A°I (TH) 1| MR 39 - 7439
1-26 237625 | ADYMLIAY 1
1-27 237716 | AV —bF1-7 1 |38 7135L
1-28 220533 | AN N UM 934T 1
1-29 222821 | Y ANIVAN-IIST 1 | 30794
1-30 092561 | 6 A& Wb (+)SW 2 | M5X25 77° Yk
1-31 227509 | V77— 9 1




2 - LBC233UT

IOy (U007 —R

« VYA - aq)L) [EE231]

ARR|AZE|ARE




RHES HBRES B & & & % fis
2-1 859768 | IVY'Y 1 | EE231/33
2-2 289639 | VU4 1
2-3 289643 | H'AHUb 1
2-4 267290 | 24991 2 | M5X20WSW
2-5 272744 | {UY1L—4 1
2-6 267049 | H'A4Yb 1
2-7 269826 | FAIRY (H)WSW 2 | M5X25WSW
2-8 274339 | ¥777tV7Y 1
2-9 266402 | A%Y1 2 | M5X55 770
2-10 273262 | B ArYE 1
2-11 273519 | TV —hi— 1
2-12 269827 | FAIRY (H)WSW 1 | M5X16WSW
2-13 275597 | M7 hN=TtY7") 1
2-14 280144 | AYEVARY (+) 1 | 4X16 4YEV7'3R
2-15 273674 | 930902 1
2-16 280488 | ATYYY 2
2-17 261492 | AALY—) 1
2-18 261386 | TMAILY—I 1
2-19 055185 | CH'4hA7 1 | 7+3v 28
2-20 261612 | 6 AYT7FY+HK b WSW 3 | M5X30
2-21 272204 | E'AbY 1
2-22 264891 | E'AYVY 2
2-23 261036 | E'AbUETY 1 | 5.7X8X23.5L
2-24 288520 | =—MILATYVY 1
2-25 261576 | ¥—=9)v7° 2
2-26 267193 | 97U99%7hav77)—b 1
2-27 269168 | 179F7tY77) 1 | 2829744
2-28 269169 | 479F1 2
2-29 269173 | A7)y 1
2-30 269647 | 97VF Kb 2
2-31 269175 | 7YYy 2 | 6.1X15X1.6
2-32 261777 | 9I=-7"79% 2
2-33 272093 | 77VAN-TtY7") C 1 | 34~ 36794
2-34 282214 | 77VhiN— 1
2-35 289727 | 939FF 743077+ 1
2-36 014210 | Ch'4kry 1 | ¥4H3agi0
2-37 269831 | FAI%Y (H)WSW 4 | M5X20WSW
2-38 282215 | 997’ 1
2-39 281169 | %Y1 1 | 4YEVh52 5X16
2-40 274927 | I AT EVT) 1 | 41 ~ 49794
2-41 283397 | O-4 1
2-42 283165 | 419 =vY3vadN7EU7Y 1 | 43~ 49794
2-43 283267 | 14l 1
2-44 283268 | 1-F7tY7Y 1 | 45 ~ 47 794
2-45 283269 | 13-} 1




2 - LBC233UT

IOy (U007 —R

« VYA - aq)L) [EE231]

ARR|AZE|ARE




RHES HBRES B & & & % fis
2-46 283178 | 7’77 %Yyv7’ 1

2-47 272805 | 794 1

2-48 283271 | ¥Yv7° 1

2-49 283272 | F1-7 1

2-50 261076 | N YE— 1 | 3X10

2-51 261417 | 34 W' 2V%FIh 1 | M8

2-52 280381 | AA"—# 2

2-53 261256 | 6 AY7HYFK b WSW 2 | M4x25

2-54 286739 | AN=47'3Y 1 | cJey

2-55 283648 | AMZ R4YFAU7)—-b 1

2-56 269705 | A 1| 50 h3rvdy
2-57 274191 | 3~ 1| A9FYF194 43




3 = LBC233UT

T  ()aA4)LRAE—43) [EE231]




RHES HBRES B & & & % fis
3-1 282404 | Y NRI-4T7HEVT) 1 | 2~117244
3-2 282405 | A4—47t7") 1 [3~10794
3-3 283411 | -l 1
3-4 283412 | hA7L—+ 1
3-5 280930 | 4UN=R7VUY 1
3-6 280931 | ANAINAT YUY 1
3-7 267213 | ¥YbRYY2 1
3-8 280932 | 0-77tU77) 1 1910794
3-9 280933 | A%—40-7° 1
3-10 267219 | A5-4)7 1
3-11 280934 | 7-IT7€V7Y 1
3-12 280489 | FATIRY (H)WSW 2 | M4X20WSW
3-13 269833 | FATIRY (H)WSW 1 | M4X16WSW
3-14 275595 | Ya{LIA' N 1 | 48 R 24—t /LBC233




4 - LBC233UT

Iy (F¥TLE-ITT7H)—F - 7a—I)LR2Y) [EE231]

23

Adﬂp,q,\\ %@M\\A\Wﬁ\.&

&
v/\~/ Ay 4\',,
Wi

=N &




RHES HBRES B & & & % fis
41 275591 | ¥¥7°LAT7tY77) 1 | 2~18794
4-2 281597 | V7K' T4 1
4-3 262991 | N—-Y'K' T4 1
4-4 262992 | FV7hN - 1
4-5 261874 | 7747 1
4-6 283905 | 4'4Y77L4 1
4-7 262993 | B ATYE 1
4-8 262994 | 4'4Y77L4 1
4-9 282576 | h'A4b 1
4-10 288187 | ¥'IYh 1
4-11 261871 | O vy 1
4-12 261876 | vy’ 1
4-13 275780 | AA'lL 1
4-14 275782 | A%9Y1 2
4-15 275784 | 779k 1
4-16 261878 | FYh 1
4-17 275850 | A%Y1 1
4-18 262996 | A%Y1 4
4-19 275729 | W AHYL 1
4-20 275592 | 9Y—=FT7tv7") 1 |21 ~23744
4-21 264709 | 9Y-=Fhn'- 1
4-22 275593 | h-AT7tV7) 1
4-23 264695 | ILAVb 1
4-24 272704 | B AGYR 1
4-25 269834 | FAIRY (H)WSW 2 | M5X60WSW
4-26 275786 | 497 EV77 1 |27~ 37794
4-27 273516 | 71—-I)L4VY 1
4-28 281565 | 4U9%¥v7' 71077 1 29744
4-29 269377 | NUEY 1
4-30 261696 | 7°)—4#434T 1
4-31 265752 | *UNIAINATTEYTY 1 |32~ 37794
4-32 264031 | N47934T 1 |33~ 35794
4-33 261115 | 4'OAyb 1
4-34 261690 | #)3AIN4T 1 | 160L
4-35 263038 | A—n"70-N17° 1 | 3X6X85
4-36 264653 | 7ALATEY7Y 1
4-37 261117 | 9Y97° 1
4-38 269828 | FATIRY (W)W 2 | M5X16W
4-39 281208 | FAIRY (W)W 1 | M5X16W
4-40 289576 | A 1 | 9Ty 9




9 = LBC233UT

tEm




RHES HBRES B & & & % fis
5-1 221460 | K3 A% 1

5-2 220534 | hnhn'— 1 | EMR

5-3 210418 | IVERWIRANT 1 | 13X19X(+) M4
5-4 219431 | 6 h9KIANT 1 | ZAunn 3

5-5 022865 | YAVTFANT 1 | 8X10

5-6 237445 | M7YhM1EYA3 1 | LBC233/26UT




AKX
EsEHERRO
Ly K- b 42— EE 0120-898-114
ZFIFARER: AN9:00~PM5:00(t. B.#1B %k <)

Printed in japan 2015-10.SM

EMENEETY



